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XY =(HIGH-MAX(CLOSELI OPEN))/(HIGH-LOW)&amp(l
gt

0.6070J

X1 =C&amp[]

gt

REF(CO 1)*1.098 AND C=H[

X201 =0O&ampl]

gtll

REF(HO 1) AND V&ampl[]

gt

REF(VO 1)O

XGO REF(X10 1) AND X2 AND XY[
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value_all =(close-ref(closel] 1))/ref(closel] 1)*1000]
value_b[J =ref(opend barslast(value_a&gtl]

=8))U

value_clJ =ref(high barslast(value_a&gt[]

=8))U]

value_d =ref(value_a&gt[]

=801 1)&nbsp[]

and&nbsp(]

between(closel] value_b[1 value_c)[I

value_e[] =barslast(value_d)&nbsp[]

and&nbsp(]

cross(closed value_c)O

value_fJ =if((barslast(value_d)-barslast(value e))&gtl]
00 barslast(value_d)-barslast(value_e)[J drawnull)J
value_g[J =count(close&gt[]

=value_b[] value_f)=value_f[]

valueld value_e&nbsp[]

and&nbsp(]

value_g[]

&nbspl]
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